M8Ex40 - 1x

Méx16 - 4x
M12x70 - 2x (A)
M12x%0 - 2x (1)
MI12x19 - 4x (C)
M12x20 - 3x (V)
M12x25 - 1x (V)

M6 - 4x

P8 - 1x

PP6 - 4x
PP14 - 8x

PP12-2x (A, 1)
PP12-4x (C, V)

M12x1,5x40 - 8x @
CRIGINAL

PR14 - 1x

DETAIL
186 _; 100
| ——[ N L e |
L 1t E?ir P(R)
\

E Lo N ——

| —
80 | ' \SENZOR!

M12x20 (10.9) - 2x
110 Nm

M12x1,5x40
ORIGINAL
95Nm

IC32501

)

M12x70 - 2x

VW TOUAREG, PORSCHE CAYENNE A
Kod: VO925(A1.C.V) - 9. 3. 2024




